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General Instructions:
s All questions are compulsory.
2 The question paper consists of 31 questions divided into four sections A, B, Cand D.

Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

TUS-3 ¥ SECTION-A

v HtA 184 F wdE F 13 T
Question numbers 1 to 4 carry one mark each.
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If p(x) =223 —x2+3x + 1, then find the value of ﬂ——l)—;—-ﬂl—)

4 & Ffa W, LABC= ZBAC=65° & 99 LADC=40° 81 AD 3R AC ¥ = fi5 srafiys gy 1
fafgu

B C: D

In the given figure, ZABC=/BAC=65" and ZADC=40°. Write the inequality relation
between AD and AC.

A

B C D

4/ (x,y) o qute & feem an 1, SfE y FoTETE AU x ST 2 1
In which quadranf does (x, y) lie, if y is negative and x is positive ?
WUT-§ [ SECTION-B ™
N

T HEA 5 ¥ 104 TAF & 2 3F B
Question numbers 5 to 10 carry two marks each.
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Express 3-:— in the decimal form and state the kind of decimal expansion.

J/Wx+71§.,p(x)=9x2—3mwmaug%?

Is x+—}§- isafactorofp(x)=9xz—3 ?

()/uf‘aa@{w;aﬂvﬁwafmzs"%, A A o7 7| FAT

If two supplementary angles differ by 23°, then find the angles.

/ﬂﬂémﬁlﬁA@BD ¢, @ fag #ifse fF AB=CD ¥

A 3¢ D
In the given figure AC=BD, then prove that AB=CD.
A B C D

/ faigall A(1, 3), B(—3,4), C(-5, —2) AR D(0, —4) F A FF R IAfiEa FHiferg |,
Plot the points, A(1, 3), B(—3, 4), C(—5, —2) and D(0, —4) on the graph paper.
axo/mq:ﬁﬂ‘,Ambmm%,ﬁaaﬁmiumaﬂ?scm%lmﬂwm:gmaffABaﬂth%

q-fi 33 ¥ | omifeEa W F1 A% [ Hie |
D c

A E B
In the figure, ABCD is a rectangle of dimensions 4 cm and 6 cm. E and F are mid - points of
AB and BC respectively. Find the area of the shaded portion.
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TEUE-T J SECTION-C

YA WA 11W 20T AT F3SFE |

Question numbers 11 to 20 carry three marks each.

3, Yz, 45, = s w9 § sgaftam Fifww)
Arrange J§ , ?[Z i ‘\1/5, in ascending order.

- ’
T E— & T 1 AT ST |

Rationalise the denominator of —-—4————

75 — 57

/
_/ . 3 1 6
TGS FWY : 8x° — — —12x+=
x X

/

: 3 1 6
Factorise : 8x o 12x+—
X X

(2vx +1)° = v iferg)

Expand (2-]3?—!—1)3.

fag g i <1 Wad <t T & Y ¥ g 2, TR i §)

Prove that the two lines which are parallel to the same line, are parallel to each other.
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16 wxyz & =g 2, fras famol wem fig o W 39 woR wfomse w1 € fF ow=0x=0z %1 3f% 3
ZOWX =50°&, & £OzwW %! 19 T e |

- WXYZ is a quadrilateral whose diagonals intersect each other at the point O such that OW =0X=0Z.
" If ZOWX =50°, then find the measure of ZOZW.

o ¥, ferden e 1 2 st AB 31 CD #1 TR E QU1 F W FEd §1 LAEF F1 WAENSF EG 3
#RLEFD 1 FHfgwoiF FH 3 99T Za= £b ¥ | ST & EG||FH 3iR AB||ICD ¥1

In the figure, a transversal | cuts two lines AB and CD at E and F respectively. EG is the
bisector of ZAEF and FH is the bisector of ZEFD such that Za=/b. Show that EG|[FH and

ABJ|CD.
!
e/
A 2 B
H
« é /F D >
'mﬁ, ABJ|CD, ZAPQ=50° 3R /PRD=125°¥| y—x %1 W 9@ A | - 3
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| _ 125°
:C Q % R D
In the figure, if AB||CD, ZAPQ=50° and ZPRD=125", find y—x.
A P B,
50°,
125°
Xelo) R D

19/  amera @ figsi A, B, C, D, E iR F % firéwia ferfian -8 H A T foig e wad, - 3
| & H, C 1 WEdA fig oft Hfg

Y

A
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From the graph, write the coordinates of points A, B, C, D, E and F. Give the point of
reflection of A in y-axis. Also, give point of reflection of C in
x-axis.

' .
Y 14
A
207 TF ISR U F G 60 m, 40 m W 26 m ¥ Wl w1 zaH o ¥ oafw uw A 3
T ® AU $H S W A ¥ A GEwel 7 BT o w o e 8 e @, u
Yo W 2 m ¥ UF WeF F 0 wE wred gu T 30 Wo Hiet 1 2 | FeER 9% W W W aE

TR F1 T ot giteaa wmife |

A triangular park has sides 60 m, 40 m and 26 m. Gardener has to put a fence all around its
boundary and also plant grass inside. Find the area in which grass will be planted. Also,
calculate the cost of fencing it with barbed wire at the rate of ¥ 30 per metre, leaving a space 2
m wide for a gate on one side.

WUE-Tq J SECTION-D

W WA 219317 THF F 4 HF T
Question numbers 21 to 31 carry four marks each.
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21/ WS aofda e aed @ fafag, few: 4
@) 3R e SufiEE W gl | |
(i) AN O SuieE wes R

(i) TOM T U W AR

(iv) a9 s srafta ge 2 €1

S ot Fifsg )

Give an example of two irrational numbers whose :
(i) difference is an irrational number

(i)  sum is an irrational number

(i)  productis an irrational number

(iv)  division is an irational number

Justify also.

B R TR ol I S SRy
T ptq-Jp-2q R

¥2q +
@JP < T LA show that qx —px+q=0

éfp+2q 3= qu

2 Ifs WEIE 203 +ax2+7x —6, 2x— mquiamramma,mmmmﬁm. T WA w4

BY, FgYS T [UHEST HITT |
If the polynomial 2x®+ax2+7x—6 is exactly divisible by 2x—1, then find the value of a.
Hence factorise the polynomial.

4 zlﬁa+b+c=531“R‘at$+bc+ca1=10%‘,?i’l‘[“‘EEEF'I‘E:IQ%: : 4

ad+b3+c3—3abc= —25%1
Ifa+b+c=5andab+bc+ca=10, then provethata3+b3+c3—33bc= =25
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- gt wifTg iR 1 -2 313 T 223 - 322~ 11x + 6 % A ¥ AR A, N @R W PGS 4
- Hifs )

Verify if —2 and 3 are zeroes of the polynomial 22> —3x>—11x+6. If yes, factorise the
polynomial.

1 /5/ P i e aatd l Coe ol W :

G-yF =2+ @27
| Gt i Vit il i
: S

| oy P+ (7 =2+ (=2

}/:qmmwwwﬁ%a’m faa ° gt 9T ABC ® & &P au1 PSR &% D H 4
Taferdl % fT o aaE S 61 WEE R 3 T S Q@ 3H 50 A gedi o wewiE g R?

7f& BA L AC, DE L DF 38 WK € T BA=DE %1 BF=EC & o 293¢ % AABC = ADEF.

On Environment day, people in a colony were trying to develop a garden in the region ABC and a pond
for fishes in the triangular region FED. What value is being exhibited by them by doing so ?

in the given figure BA L AC, DE L DF \

Such that BA=DE and BF=EC f: Y
Show that AABC = ADEF lé(

.Aﬁﬁx+y=lﬂﬁiﬂx=zl fag FIfIY fF 2+y =101 T F97 F wgH IfwTe @d a1 w4
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fafaw ) sa & sifafiaa afvere ¥ 9 3= 9 f wfay)

Itis known that x+y =10 and that x =z. Show that z+y =10. Write the Euclid's axioms that best

illustrates this statement. Also give two more axioms other than the axiom used in the above
situation.

29 REm T 1lmlln &1 21, 22, 23, 24, 25 3R 26 =197 7@ FifaT) 4

A

In the given figure I || m || n

Find the values of 432, /3, /4, /5 and 26

TJ
b

30 fas =ifsg fo fadt Bfs & =il &1 9 180° @ %1 afs AABC #, ZA+B=120°31R 4
ZB+ £C=100° &, @ 197 B 71 Hifoq |

Prove that sum of the angles of a triangle is 180°. If in AABC, ZA+ ZB=120° and
£B+ ZC=100° then find £B.
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.Wﬁ,'OA=OD3ﬁIAI=42§I o #ife fiF AOCB T wmfEaTg figw #)

B

C

In the figure, OA=0D and £1= £2. Prove that AOCB is an isosceles triangle.
B

Cx

-0000000-

Page 11 of 11




